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3rafeiat & faw 3mieen/instructions to the Candidates

1. 'mmwmﬁuﬁa%@maﬁﬁmﬁméﬁmﬁmmﬁ
e & AT 3ART far a@r B afd 9e 99 F dreg gfafte & & a1 e &
ITAR 3T Qegar 78 @ o ey HeAfIar redispa & st

You have been called for the written test based on the online data furished by you in the web application. If you have

wrongly entered in the web or you do not possess the required qualification as per our advertisement. your candidature
will be rejected. v

2. T gl 7 ol 7 3ufufa F & Ut g/ RIue W gFdRR ST a1fRu]
You should-sign the hall ticket / photograph only in the presence of the Invigilator in the examination hall.

3. URAF-IF 60 WA H IoFd YRA-GRAH F T H gl '
The Question paper is in the form of Question Booklet with 60 questions.

4. YT & ek &4 o AT 37efer INTAINR Scar-qRecer & e

A separate OMR answer sheet will be provided for answering the Questions.

5. IR gt B N ARA ver-qRaer Aol B (b, Mo S g 9w
- 2fdse wum # fower e

Question booklet series code (A/BICIDIE) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.
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10.

14.

12.

13

14.

13.

TRA-GIRETHT F IHTUHT ATH TAT IThaAw e o]
Enter your Name and Roll Number correctly in the question booklet.

”»

NTANR Feak-giecdenr 7 gt gfafear Ae/srel T & afa wEe 997 & & & o
Iy

All entries in the OMR answer sheet shouid be with blue/black ball point pen only.

ve ¢ FURa a9 & 3R W, ORT olar 9R et & @y aegvs & #
gl TS & shael v 3R &9 & FEr g

The written test will be of objestive type based on the qualification prescribed for the post with four answers indicated, of
which only one will be unambiguously correct.

3T, SeR-IRAHT A RU 0 el & 7R, /ael T & afa uge oF &
INTHIR IccR-RTH & Had 3ifaer 1 3ifhd FF TE 3cak & 9T FT )

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen as per the instructions given in the answer sheet.

WWH%?@FWWWWWWWW%%@W%H@?W
GILEIN!

* Multiple answers for a question will be regarded as wrong answer. No negative mark will be given to wrong answers.

Ol alel Teeerd 8id & X HFXR, PIeIheley, AlSSe Bl Ul Hed SoFelietes
ST, ITST-TEAD, e 3Mfe et H Heata & & st

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc.. will not be allowed inside
the written test hall.

AT o7 Bl R, TANR IcR-GRdH H IR F Sed fed § v 3R w7«
HTAAR Seq¥-giedenr lers ot dia gor eulr ofa s g @)

On completion of the test, tear the OMR answer sheet at the perforation mark at the top and hand over the

original OMR answer sheet to the invigilator and retain the duplicate copy with you.
gRA-qIceR 31l 39+ 9T @ T &

The duestion booklet can be retained by the candidate.

T & FUH 0 & R ARG A 8T g oIS T At AE 8

Candidates are not permitted to leave the examination hall during the first hour of the examination.

AT & WP 8] THEEE/ERT-eT F & T & Rfe qder s
ST B

The written test is conducted only to shortlist/screen-in the candidates for interview.
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JHAIATT ot (A Technician B (Turner)

»

wh {75 B & g0 wae o & Fror 89 &) 39 a9 & FRT 548 Fla-ar §2/A reamed

hole has patches of poor surface finish. Which one of the following is the cause for this defect?

(a) Y B o1 JTHT vaag 3rgaiea ’é’_/The bored hole has insufficient reaming allowance
(b) 37T FR TMA/Excessive cutting speed
(¢) S & AT Terd TFX T TTA/Wrong selection of the reamer for the job

(d) 3Te e 3/ Insufficient coolant supply

Tk god Hr 9R 66 mm ¥ 3HH O ———— §|/Circumference of a circle is 66 mm
find its diameter.

(a) 21 mm (b) 42 mm (¢) 33mm (d) 11 mm

T B F @07 g7 WgFT T A WX B F ipwewr F afgd dor ————— g/

The included angle of the countersinking of a centre drill of type ‘B’ used for protecting the center
hole is

@ 75° ) 90° ©  100° @ 120

I HARA 1 (V) m/min F F2r aimwmaor gfa e (n) fRe e § @ $eo d & =8 mm &
Tohelall g1 3HSHT TaT et & TEr §qF YfeT|/Choose the correct formula to find the dia of job d
in mm if the cutting speed (V) in m/min and the revolution per minute (n) are given

(@ d=1000xV
nxn

(b) d= nxn
1000x V

(c) d=1000xn
Vxn

(d) d=1000xn
nxVv
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10.

3T AT §¥Nd ——— #¥ fseng §1/High speed steel is an alloy of

(a) TIEC, SETd, FﬂET/Tungsten, steel, copper -
(b) =EATd, To¥el/Steel, Nickel

(c) CIRCST, PITATH, TaSTHA/Tungsten, chromium, vanadium

(d) TAeFe/Nickel '

18-8 STARIEN S¥ATT &I 318 /18 - 8 stainless steel means
(2) 18% CICT/Tungsten & 8% HITHIA/Chromium

(b) 18% HIAIH/Chromium & 8% Trehel/Nickel
(¢) 18% fA&el/Nickel & 8% SITHITA/Chromium

(d) 18% HIfFIH/Chromium & 8% FiaTec/Cobalt

3/5 3t wfaera & aRafda #¥1/Convert 3/5 to percentage

@) 40% ®) 60% ©  80% d  90%

AR e —e IfETI/The surface of a lathe bed should be

(a) ®&T/Rough (b) HIH/Clean

(c) TEN/True (d) 3'51'{13!'? H ua & A€/ None of the above

T HIXTST & 3TATA/The accessory of a carriage is

(a) ,é?r FCih/tail stock ' (b) I TeTSS/cross slide
(c) dTdh/chuck (d) &8 Tid/head stock
ol 9FC ——————— W 3T g1 &1/The tool post is mounted on the
(a) &3 Tld/head stock (b) ®3/bed
(c) T TTahftail stock () 3"7@?(-[ # U o1 Fgi/none of the above
" 1262TU



11.

12.

13.

14.

15.

0.018 & 0.003 ¥ s +¥1/Divide 0.018 by 0.003
(@) 4 (b) 1.8 © 6 . @ 3 .

TfaRea 4 § %l <Mn & foag @ 2wt wgfa 3faa 87/ Which of the following method is suitable

for turning steep taper?

(a) oo Teiew fafr &1 ATHEATCIT/Offsetting the tail stock method
(b) qﬁ"‘fﬁ'@\'ﬁﬁﬁm@orm tool plunging

(c) Tif¥Te Temsg FT hiea/Swiveling the compound slide

(d) ¥ i TSs FT AIIS/Combination of the lathe compound slide

x> —5x+4=0# x & HzW/The value of x in X’ ~ 5x +4 =0

@@ 1°' (b 4
(c) -4 (d (a) & (b)al=i/both (a) & (b)

& ddlel g ocieh o AT &1 3uFer fRam STar g1/ Offsetting the tailstock

is used for turning

(a) BIC TYT HIOT F Jad o9 TWI/Length tapers with a small taper angles
(b) BIT TURI/Small tapers
(c) FEIATHER TRi/Medium size tapers

(d) BIT TR HIUIT § FFT BIC CRI/Small tapers with small taper angles

ST TR 1§87 T 35 Tk Tesl W glar § a9 HPUC ————— F 3R TEaT &1/When
the big diameter of the taper is at the head stock ends the offset is towards the

(a) <o TTih/Tail stock
(b) FdTAHR/Operator

(c) g/Centre
(d) 3'5@3?[ H UF 8§77 F61/None of the above
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16.

L+

18.

19.

Fsfertr @RRT &1 3T

(@
®)
©
(d)

(2)
(b)
©
(d

# forar ST §1/Helical gears are used in

#HTY {ETS1/Steam turbines
gal/watch

arsfara/Cycle
B'q'{ﬁjl-_cf # ua o7 F81/None of the above

F T IIJ?T-F-I' &7 39T fRaT ST g1/Coupling is used to
AUET T AT F=1/Strengthen the shafts
QUET T deTS delel/Increase the length of shafts
QST FT TGS FA FI/Shorten the length of shafts
3'CR_1W #H UF 37 STE1/None of the above

A A did, ————— # TF fAAUTG §1/Gun metal is an alloy of copper,

(a)
(b)
(©
(d)

TICHCH &, 4 fAHT decd F HTUROTAAT SgFd 3

fsT duT 5%/ Tin and Zinc
g aur fS/Lead and zinc
Toier AT fAed/Zince and nickel

O AT Ao d/Lead and nickel

proportions of alloying element in HSS are

(a)
(b)
©
(d)

18% SIRFCT/tungsten, 4% ShITAIHA/chromium and 1% T T3TH/vanadium
18% SITATH/chromium, 4% EIRCT/tungsten and 1% TAT8dH/vanadium
18% = T3T#H/vanadium, 4% shITAIH/chromium and 1% TIEC/tungsten

18% &hldTec/cobalt, 4% I AITH/chromium and 1% A T2gH/vanadium

€1/The commonly used
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20.

21.

22

23.

24.

25:

& Afgw AgEHE A Red # qul ol ———— 3 Sedr €1/In a metric

micrometer, a complete revolution of thimble advances

o

(a) 0.01 mm (b) 0.25mm (¢) 0.50mm (d) 1.00 mm

URE ‘2’ ¥ Fd T FYF H HAg AABe %1/ Surface area of a cube with side
‘a’ is _

(a) 6a’ (b) 6a () a° (d) 3a°

Aoy S¥9 dler &1 HFddA FEc 21/The least count of Vernier bevel
protractor is

@ ) 5 @ 10 @ 25

UF FET ABHAC H FKOMcAF IR T W YT ————— @ oI S wwar BY

An outside micrometer has a negative error. The correct reading can be taken by

(2) arEdfde (S & FOlcHAS I SiISAA/Adding the negative error in the actual reading

(b) aEafas AT F FHoncAs 'flﬁ.' &I TT/Deducting the negative error from the actual

reading

(c) arEaldes {fSer H RUcAS gﬁ' &l &I I SAI3e1/Adding twice the negative error in the actual

reading

(@) arEdas AT & FHOTcHS a’ﬁ' &I &I IR TeT/Deducting twice the negative error from the

actual reading

T 50 — 75 mm SET ASHIACT 1 e AT FAT §2/What is the zero reading of a 50-75 mm

outside micremeter?

(a) 0.00 mm () 0.01 mm (c)  25.00 mm (d) 50.00 mm
ABHIHIY —— TAgId I I FaT §1/Micrometer works on the principal of
(a) Th/Screw (b)  dTec/Bolt

(c) ¥3/Stud (d) ¢ Ud dlec/Nut & bolt
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26.

27

28.

29.

30.

Fie BT —— & v far sar E1/Spot facing is done to

(2) BarrarRgs Y I STeR FleA/Deburr the mouth of the drilled hole

pos

(b) T F Fure fHAT AT Ak siec 88 T8 9T ST ST ST "k |/Make surface flat so that

bolt head can take proper seat on the surface

() T3 foh a1 &g ht & Wt &aY/Give fine finish to the drilled hole

(d) TAHA &g Fraar F{a/Enlarge the existing hole

TART ARG % R f3er =&t @ w@r smar F/Drill chucks are held on the

machine spindle by means of

(a) 3T&/Arbor (b) T3we/Drift

(c) 3I-87-8/Draw-in bar (d) 9T #F</Chuck nut

fAmfaf@a & Fia-ar & FRA 39a9s §2/Which among the following is an artificial abrasive?

(a) ﬁ@ﬁﬁm 3HTFATSS/Aluminium oxide
(b) THI/Emery
(¢) ERT/Diamond ‘

(d) REHA/Corundum

68, 8 QAL Tur 10 T3 & anaft ¥ T v BFOT F A

a triangle having side 6 cm, 8 cm and 10 cm is

(@) 48 cm? ' (b) 60 cm?
) 30cm’ (d 24 cm?
IEH U5 T HOT —— F1/Angle of buttress thread is
@) 47° (b)  55°
) 45° d 29°

8

&1/Area of
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31.

32

33.

34.

35.

FAC TH ——— T THs & o0 AT g1/A collet chuck is meant for the gripping of

(@) N theavyjobs (b)y &3 SITHAT c‘r_vrélchi/ large dia jobs
(c) ®IT E(I:Fc'ﬁﬁ/small jobs (d) St =8 F Feahi/small dia jobs

¥ forw [ &1 399 foRar SITaT §1/A steady is used

(a) I I Telld/To drive the job |

(b) FIH F YROT H¥=A/To hold jobs
(c) Hcgh =T FAAF FA/To support the job
(d) 3T F/Al of the above

FTT FT 3T ——— & @y FIT ST BI/A carrier is used with a
(a) T Telc/catch plate (b) HRTSH/carriage
(c) < Teie/ tail stock (d) 3AH TFH T Fei/none of these

F gda F U Acza T FEIT AT I §I/A mandrel is employed for the
turning of ‘ :

(2) 99, Fc»ﬁT:I',ﬁITIT Seioh/Bush, sleeve, gear blank
(b) ?—F_%?, 0¥, 83/Spindle, piston, head

(c) IR, Siec, T€3/Bearing, bolt, stud

(d) ST TeH AT AEI/None of these

W o il R SR A A R S & Rw vged & o 3

Form tool plunging method is a method of taper turning used for

(a) <UX T §3T AaTS1/Big lengths of taper
(b) SGATA-3cITCA R I B oSl & T, a7 TUrddr ACS AT & /Small lengths of

taper in mass production where the accuracy is not the criterion

(c) <TUR &I ATETTAS ar5di/Medium lengths of taper
(d) IR I BIE TS & ToIT, STaT FUTHAr 31fAaTd §1/Small length of taper where accuracy is

essential

9 1262TU



36.

37,

38.

39,

40.

e # o0 2 7 s =Rt & 9= AT 3a¥/The difference between the maximum and
minimum sizes allowed in manufactured

»

(a) fFer=d/Clearance (b) Uerd=d/Allowance
(c) WfESUC/Tolerance (d) HHAVLimit

Rrelt 3@YT F TF e & A 40 00002 Taw v § 3w dve F 7 A e
ARFSULAT & 3fex g §2

In the drawing the dimensions of a shaft is shown 40 *%%-%92 1y Which size of shaft is not
within the tolerance?

(a) 40.068 mm (b)  40.096 mm
(c) 40.000 mm d  39.998 mm

FRIRGAATAT FATTTT — & T, TIYFA %I ST §l/Interchangeability is

normally applied for

(2) 99 & HIFHAI/Repairing of parts

(b) Eigﬁl?r-?)?ma?fﬂ\/lass production

(c) Udhel d&] JcUTE=A/Single piece production
(d) I9dEd FHVALL of the above

URd ‘a’d IFT UF FAURY FIRIOT T ST/ Area of a equilateral triangle with side ‘a’
(a) V3/4a° ®) 3R2a?
(c) V3/6a° (d) +3a?

H'iﬁl?f ST FT Hafedd 30T —— ¥1/The best example of shrinkage fit is
(a) @SRl FT Tsh/Bicycle wheel

(b) HIET FRX FT Th/Motor car wheel

(c) UFT W TF T SINIA ball bearing on shaft

(d) 9T F T W AR F CT$Tron tyre on the wheels of wagon
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41.

42.

43.

44.

45.

46.

ST & § o & AFTdH F3¢ —— gl/Least count of steel rule is
(a) 0.5mm (b) 1mm () 0.1 mm (d 0.001 mm

Y3 AP F I selid] P ————— H TAC AT &1/ “V” blocks of grade ‘B’ are made of
(@) ﬁfﬁ' T TeTdl lIgl/Closed grain cast iron
(b) Hg FTATAMIild steel '

(c) STTd/Steel
() 3SR ST/ Tool steel

THIHTS & TR Wals HT IUR e ———— §1 / The base unit of length as per SI is the
(a) AT Millimeter (b)  FI/Meter
(c) TraTHEICY/Kilometer (d)  QeEHARI/Centimeter

Rl Feas & Tearar aUr gAdear B o e & fov Aeff@a & sla-w g &

3931 fRar STar €7 / Which one of the following instruments is used to check squareness and
flatness of the job?

(a) BEUT & T w/Steel rule (b)  HTUR/Caliper

(c) i Try square (dy  SiewiT HIAIY/ Jenny caliper

Th gsiz:n ———————gIdr &1/An accident is

(@) IASTATEE TCaT/Un planned event (b)  3TITT TTA/Non controlled event
(c) 31aifSd TesAT/Un desirable event (d) & FHVAI of these

3T ——————— &7 T At g1/Fire is a combination of

(a) SY, WEhILT T 3iTeFiTatal/Fuel, light and oxygen
(b) U, FAT TAT JHTFUIST=T/Fuel, heat and oxygen

(©) SUA, FSAT dUT FHIe STSHATFHTSS/Fuel, heat and carbon dioxide
(d) S, YT AT ATSeITsT/Fuel, light and nitrogen
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47.

48.

49.

S

51.

52.

fFrrfeiaa & #la-ar ues wearet 71fd F T4 W YHIG AT STa?/ Which one of the following
factors will not influence the selection of the cutting speed?

(a) T AFHIT T SATH/Diameter of the work piece
(b) I FTHIMN/Work material

(¢) ISR @M/ Tool material

(d) T S=raTar fASUTEs/Operation to Ee performed

pos

TSL.UH.TH. 3YFIOT & 39ANT I §U 7g $TIT W g FeRd M fhelell T@T St 3/
Which range of cutting speed is set for turning mild steel using H.S.S tool?
(@) 15-20m/min  (b) 35-50m/min () 50-80 m/min (d) 70-100 m/min

MI0Ox 1.5% UF Tf & U v dc s/ Sar 81 3 v anae B &1 3mer fhaer
BI9T?/A nut is to be made for a screw of M10 x 1.5. What is the size of hole drilled?

(a) 8.5mm (b) 9.0mm
(¢) 9.5mm (d) 10 mm

60 WA, TS F TH &3 F AT T F AT dfeher Brar Ser ¥1 v ared 10 A ¥ gEw

ared —%l/ A rod of length 60 cm is bent to form a rectangle. One side is 10 cm. The
other side is
(a 15cm (b) 20cm () 25cm (d 30cm

mmmmmaﬁﬁ%mﬁé?ﬁvﬁmﬁﬁaﬁmmﬁmm#/

Which one of the following is used to rectify damaged or rusted threads?

(a) SIS 7e/Die nut . (b) FedPR FECAC 318/Circular split die
(c) § ips) ?,T%ITWO piece die (d) =T Teld/Die plate |

IF TH YNGR BRAT 3TRT g@RT U1 Fefel ¥ ga o b & fwmewr & ufmr 31 5w
3YHIOT HI AT Fgad g7/It is the process of removing very small chips from metal surfaces by
means of a sharp edged tool. What is this tool called as?

(a) FhUR/Scraper (b) TRAES/Chisel
(c) gFaI/Hacksaw (d) {FYUReamer
12 1262TU



33,

54.

3%

56.

UF HIY TEs & 17 — §1/The function of a cross slide is

(a) Cereers & forw ®15 dr 3mfcd/To supply feed to the tailstock g
(b) T F fow frs $r 3mifd/To supply feed to the chuck

(c) e arEe % forw 613 T 3mfd/To supply feed to the tool post

(d) 3TeToT  fore trs $r 3mqfel/To supply feed to the tool

TF 4 I TF A T FAF H IAHEF T WA F T IuIeT T Searer 39l

g1/To true a job precisely in a 4 jaw chuck the instrument used is a

(a) HATSHIACI/Micrometer
(b) IFRR FAI/Vernier caliper

’

(c) Eﬁm IR & gl ST qJr&ToT Hdeh/Dial test indicator with a magnetic base

(d) BEITT | FAT FcA/Steel rule

T oY e & 3TRI90T g/For mounting a lathe chuck

(@) YA 3/ YE A AR TR 7 R 3l T 3R T A R Foeagal HTU/Start it by hand

and then switch on to power and assemble to the spindle nose

(b) HTER AT & IHHT FRIGUT HY|/Mount it by power only
(c) hdel BT | TP IRIYUT &Y |/Mount it by hand only
(d). 3q1’_533‘?¥ 3 e 89 8T /None of the above

1 #iex diss aur 1 A Mg F Wgiaee fie (Fgadar 2.7gm/cc) FT AR N e 1
Weight of aluminum sheet (density 2.7gm/cc) of size 1 meter width and lmm thickness is

@) 27kg (b) 2.7kg € 027kg @ 1kg
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3T

58.

59.

60.

ay A JHT i gerem F AT & qET W T@ ¥ R/The main advantage of boring over

reaming in the lathe is that

(a) VB HYfcl GTd T ST Fehell & 1/Better finish is obtainable
(b) mﬁ%ﬁmﬁmﬁmﬁmmﬁﬁm%ilme process of

finishing the bore to a precision diameter can be done more quickly

(c) Wwiﬁ'aﬁéﬂﬁmﬂﬁmm%mmmﬂﬁm/Bmmg corrects any

eccentricity in the bore while reaming does not

(d) 3‘!’%3-?—[ HUs oY FI'eﬁ'/N one of the above

”»

A FIR R s s e T Fard ae s A #or —

In a lathe when a tool is set above the center the top rake angle

(@ dedr %’lincreases

(b) ©TAT g/decreases

(c) 3IREfdd @A &/does not change

(d) 3‘1’%&'?[ A UH $77 Fi/none of the above

R M@ F ST 25 4+ 0.02 mm ST T ) AiSurar fhetelr §2/A dimension is stated as

25 £0.02 mm in a drawing. What is the tolerance?
(a) 25.00 mm (b) +0.02 mm
(¢) -0.02mm (d 0.04 mm

mwﬁaw%,a?aﬁewaﬁmm Ydd TSR FI °HI0T H GHUST Ferarer
R@rﬁr.ﬁaémﬁgam%,ﬁgﬁmwﬁaﬁwmmgmm—%u

A car has two wipers, which does not overlap. Each wiper has a blade of length R cm, sweeping
through an angle of 6°. The total area cleared in each sweep of the blade is:

(@) 2{(6/360) x MR} (b)  6/360) x NR?
(¢) 2{(6/360)x 2 nR} (d)  2{(6/360) x 2nR?%}
14 1262TU



